Mok 19
DSk 10 Seludi i
P.

© 41/ /"
$~/ ' ; :‘ 4"
l / /
o = L£||XAX = [#X‘l“ ==—£-

Foraxl: ;
(n )& =X du:cos(vmx)cty
Qu= | X-CosIiTX)ax dus=dy V= 7w Sinlnmy)

|

= [ X‘v-\lﬁ’ su‘n(nwx)l: - L 7‘,‘; Sin(wrm) &Qx

= Lo -sinlam) - () -snlam) + | i cosemd]
= O+ ﬁ'ﬁx( ws(nm) - cos(—wn-))

== (0-'! V\Dh \(COS(‘“T\\ wew-ni\&&w lMWJ’MJ‘cg
that the ln’feffw) ) O).

1
| , Ao w stnlnm)di
= L X Sin (mrx) rjx ju::lx v= s—.,‘.—::::slwm)
\ ' { l
= [-7”—,- Y‘cos(nvx)]_l + W;,-J ‘ coS(vm'x) o
— ﬁ‘a.(\-ws(nr:) = (- cos (—mr\\ -+ MLLW‘ [ §'IV\(VIT\'X)]__:

= | E] 0 = ()




p.2
Hence +he Fowrien senien has only sines, and & given by:

o
> ) F- sin (mrx)]

k| |

w In %Ix Yy Sn

e qraph 9 o repesded patlow of parki o parakodsn.

Zz %
Fos n2l: 1 E— 5 us T dwe cosineld
aﬂ —3 -T-r' L= ("T‘X )COS(Y\X) % Au:*Z" vs ﬁs(w(m]&x

=-%-{(w"-x1‘)-‘g sin(nx)):‘ = %\-Wg_: % sininx) dx

™

L, . . 2
- kﬁi-- '“1._1‘.\). F\_s‘n (“.“):TJ\T (“1_(.'1‘_\\-) . %Sln('“j)’ ol mj—'[r X'SM(M)AX
(o]

4

U X Az s iide

- X-sin (MMX - Jusdy ve- 7 coslnn)

|

3

|

2 | R S G
o | X cosluy) P Vi< “.cos(m)Ax



= = E|m e (] [0-0]

N=\ Y -t 4
== = )5
T = et dvs
bw = -;lr—[ L (Tg‘-x_") si\f\(V\X) A ua[u.r: -;x vv=-si: gf(ﬁt]
-n

‘ -_:?“_-I‘:(-“-"-_){’-).(-%) coslm)]:w ’):".,;g X LOS(V\%)AX

- ’r\v"I (1\" ) b)) -corlwn) - - (= (n (-11)) (- %) cosl- mr] ,fwj_:lxcoslmm

u=x  dv= cosl)dx

S‘ X CDS(“*)A\I - duzdy Zvz & sinlas)

= 2 =
= - T«Z"?[MXSM(H\J-) = WS_K sin(v) Ax
Z
= = wTesinbn) + 3 (rlgalnn) + Z=-f- L osnd] T

= 0+ & () oslnm) ~Z- (%) cos bur)
= F e ler-ty) = o
(m juay ok that  (wh)siving) o av odd -me-hm)

Co the Fownies senes iy

rﬂ ""Z(Oﬂ HlCDSVW‘j




@e = 2T U O i rlo)

nei
R Spp— qf‘ "
—] 3-“' - & ne
I ° £ =
=) T = 4 Z:—ﬂr
| S
o2 =
= S8 uT
n=i
@ A fomla P $(¥) i
O =W XEo
'5(“)= {x 0SXET and

* Qn = -—FFS S(x)cos(m)& _[ xeos(wx)oQ

usx dv= cos(v«x)c)\x
du=dx v = 3 sulnx)

=%—-[—-xsm(m)] | u;g sn(v) Ax



\ v P5
= _'T(T [-}\'n- sin(nw) = D siv 0] - w "_— 'é\ cos(V\ﬂ—_\o

= 0-aF “%(*\)W—"v\]

evwm
f (1) = [0 "

S U=¥% dus iv\(m\o\x
(o snidde =3[ xesinleddx Bk e feeden
[ xc.os(m«]] * o g cos(mc\ Ax

== (l)"*-'-Oc(ofJ-‘- == sin( ﬂ“
=5 |-nTw 0oy niw Siniax o
(_\)\A-\
n

b

il

=\

n

So the Fowmter senion in

E\' “+ Z[ il c.os(rw.) 4 ‘ﬁsm(m\ﬂ

o afenedively

L 11' Z T cos((lw\h + Z 0" g
n=o

3 Tix
+2€

=)% e Mrie4E -i-e'xiiﬁ@

@a) 5+ Zsix +3cos(2x) = 5 +ie™ ~1eM e de™




: . P-6
b) 1- Yeosx +3sing = 1-2e7-2e+ i -3ie

=l(_—2+%i) el + (—2—%i)e“ﬂ

) "f sinx + 7= sivi (Zx) + -;;;sm (3%)

S S Y i S YR Y
=z-e ..-‘Te +ge __g_el_‘_%_ew-_'t?ex

| I -.3X.l » _z‘ * — [N ; 'y
S I TPy AN TR TINY

c?) bcosx +Zsinx +5sin (T +3eos(3%)
3 -|¥+~Sei\ *ie— Le Ee _.ge *%e..

o e )T e A

@a} Eg*+5e™ = \o.{_-_‘ze“*.;_l&e:{}
7‘—'110 cosx|

Jo) (\"‘L) e s (- L) ezm = [Q-zw-\- e}“} + [i~e'7"'“—i-e“‘]

]

= LZ ¢°5(1X) +2 sin(2x)

~Lix l -IX \ Tix

\ \ X
C> 1+ e’ 05 (e e‘ -+ 1=t e + -7 e

= T_&ﬁ—-(cmZx-tSMZx)-&- T (aasx lSlVlX)

+ TET (co,;x-t-tsmﬂ + -“ (ws&ﬂswx'lx)



. | ) Lt :
— [W"' = ] COSX +[ l"‘l +-‘_—:—] SlV\X

\ \ - i _—— :
""[ T TR T ] cos(Zx) "‘{" wEn ‘.}z‘.] Sm(’Zx)

=i +\=i =i(t-1) + {(1+i)
T L Ik SR TS Ty

SINY

-2i+ 182 —i(u)+i 02

ey )« 2,
2 Sisfeist— 2 I
= T COSX + ! T Sinx + —z—cos(7y) + ';'" sinlZx)

= LCOSX -~ SINX + ';"' cos(Zx) - -;i SM(’ZKU

R, PR T - u . 3ix
d) Le'S*_‘er_Lem_"l_\_te.yl_e X _ip

= {ie’m—ie_’“] -[e% ev“] ~{te™ie™| 41

= 2 sin{3y) = Zeos(2x) - Zsin(x)+ 1

1= Zsinx = Zeos(2) +25m (3]

i

@) & Q+z@+sa=v
= dhalln, (W) 260)45) Ca(@) = CalV)

: [
= E(Q) = ()% 20w s Q\ﬂ




p.3
b) V(#) = Zeost +2cov it +’Zcos‘$+

= e“"+e + g1 e e"‘”“
3 F
2 @MW o -t-e”"*e e®

hence Cay = (== Ci=Ce=(3=], and allcthen
cn ouwd,  (fathd Panchion V(é)),

We-B:u.: ,
{ ' \
CalR) = mrmms 2 = Taws = aw
i .| St 1.1 SR b - SRS £
T (U-bi)(4bi) 6 +36 571 ~ " 26
\ | {
C2(Q)= (-z-.)=+z:(-z)~s'\"' “q-qi+s  © -4
R .| R = . |-
= (RdleH) T Trar T TVF
X S —
C-n(&) = =) enl)es 1 = l-uds M- U
= T L7 . 4 I = L A I & 1
. TEEeE S BrH T "0 T T

_ | - 4-7
C\(Q) = (‘42 +S o N q4+% - tq*l:’\'(?—n\

- L _ el S —

Clb+Y 4% - 16

a)_.l S N
Cz( = @MU T qedpes T TSl T QeGl-dT

| =i = =&
= +lb - \F

—————— ¢



l i \
C3(Q) = T=L395 = Saginy = o +60

_ =4-bi _ =d-bl . =H-bi =23
= (-4bi)|-4-61) (b+386 -~ sz T 2%

¢) Fom the previows past, |
Q) =z (-2+%) €™ e 15 (1) €5+ gy fenle™
I AR Y (STA P Wy E N
= wle"et) - f(et-e)
- -l‘_—f(e—m.., ew) N _\us i e—li*_e"Lﬂ-)‘

- ‘Lﬁs‘ (e—w*e'm) -l-%i (é""*_ e‘sw)

= —““-'5 cost + -%‘5 sint +& cos'2++-\3-;-s\‘nl+
-4 o3t '*‘T6L' sin 3%

= -é— cost + T sint + l—}wsl’c e %SM?.’E
- %cos}t + 5 sin(34),

So 'Hrf-Q /uw.& Founien coe—?)}nlcvc(-s ot

a, = /5" by =15
Qv =211 he = S/17
Gy =-2[I3 by =313
- £ Ahe nert ane 0.




@

p.10

We lanow thet i §&)= Zanx”
then Znauw-x"= % §7Ux).

Now,

PARSEEE T\'l'-(? (‘é/«m mM\

n=t

c?
=D %'YM(“ = \(%(T};{)

e ———— l_---x
R A3 LA (%
app(vjinq H"L‘E&d‘ aqain:

= 2nixt = Y%(ﬁt)

el
;
= X{ (-t - */-\3_} (prodad o)

_ .4 . %’

% (1=%) Z%"

L L ke

L
= (=¥ -~ (=-%)?

Uning pﬂablum +, with X=0.99,

2 en _
2L M, = Zw‘- 0.999"" . 0.001
ne)

{
XTI Z‘%" 6.999"

0. 00! 0.999 + 6.999*
= 0999 (1-0.959)°




.01 0,999 (1+0.995)
= 5555 0.00\¥F

1.999
= oo = 1,999 (1900,000)

. 1)9’99, 000

Thute Pae

——

z e?
§ =fv‘=z‘w-tp“ -ML

= \/-',999,000 — 1000°

=E999,000 J > 999, 5

Pl



